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T—RINE

>111 1 <-read.csv("chll.csv")

>t11 1

HF x vy
1 1290 350
2 2 50 70
3 3 80100
4 4100130
5 5200 250

<UTF, Aig>

> x<-t11_1[,2]

> X

[1] 290 50 80 100 200 350 430 80 210 110 70 260

> y<-t11 1[,3]

>y

[1] 350 70 100 130 250 430 520 100 260 140 90320 4



X

(1.1) x&yDE#RSfm, ARIE, 810,

> par(mfrow=c(2,1))

> hist(x, breaks=c(0,60,120,180,240,300,360,
> 420,480,540,600))

> hist(y, breaks=c(0,60,120,180,240,300,360,
> 420,480,540,600))
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RARIE: F1, pRIE

> mean(x)
[1] 213.5

> median(x)
[1] 215

> mean(y)
[1] 262.5

> median(y)
[1] 265



AmE FZADR, RERE

> varp <- function(x){
+ 12K 5 E<-var(x)*(length(x)-1/length(x))
+ BADE

+}

> source("varp.R")

> varp(x)
[1] 13492.75

> varp(y)
[1] 19328.75

> sqrt(varp(x))
[1] 116.1583

> sqrt(varp(y))
[1] 139.0279



&11.2 x&yDODRFEEHME

T y
I3 213.5 2625
PoR{E 215 265
EETE 13492.75 19328.75
R = 116.1583 139.02/9




(1.2) y-xDE#7H, KKRIE, .

X

> par(mfrow=c(1,1))
> E/FR<-y-X

> E=15R

[1] 60 20 20 30 50 80 90 20 50 30 20 60 50 70 40 90 20
70 60 50

> hist(ZE&FR)

> mean(ZE&R)

[1] 49

> median(Z& 2)

1]

AL
> varp(Z1F =)

50

529

> sqrt(varp(%’g'r, 1))
1] 23
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(1.3) x&yDHEEZRE

> cor(x,y)
[1] 0.9998148
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(1.4) xZMIEH, yEit

> H[Al)Fi#E R <-Im(y~x)
> summary(EERIER)

4l
B

ZHEL=MAFEZ

Call:
Im(formula =y ~ X)

Residuals:
Min 1Q Median 3Q Max
-4.0446 -2.3701 -0.3618 2.1800 4.1558

Coefficients:

Estimate Std. Error t value Pr(>|t|)
(Intercept) 7.012840 1.319652 5.314 4.73e-05 ***
X 1.196661 0.005429 220.401 < 2e-16 ***
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> plot(x,y)
> abline(E

o] #ER)

y = 7.012840 + 1.196661x

500

400
|

300
I

200
|

100
|

100

200

300 400



BRE (2) DI ENS MBI h LN E

(1.1) Ox, yEHDH . FHEDE. xEyDT NAEFR]
XERDMFDIT N

(1.2) OINDEEDKEES/"TNDEANED T
XITNDEAE " EDELIICTNTLNSD

(1.3) ORRELBHICT—EDERMNHLIMNED
XINDKES

(1.4) OFHIGT NEBRHGRITHIL2EELTHT D)
X MM ULNEEIZIXFIERE

15



[FRE (3) RRELFEHDI NERNDIDHAE

y-XMD 53

DGR

ELESRER

et L7
ERELER

YA

L TE0R [ EFET N TLNAS.

BOEIZTZITNDBHAED, TORIZIEIIGYZEE

FRAZRMNBDOT, —FAd b, AZELVMEETTRITES.

A o3 AT

1R THELTELEE
EHE->THYNEIT N
1RIE ~fAEICRIBEL>TLVSH

* 1D D BH E—ELARILENSENZ DT, B
DR HEERAEHEIELEE. 16




(1T —3%UINET S
- RFIZBITAHEER, (&8
A3 — YR DBULE

(45) <L
"P.292MD X

(2) #RETHY

(@‘fﬁ#ﬁ’]ﬂiﬂ#ﬁm’éﬁi

FERE

N(u, o) MoDE

- FEREAN B DD ?
BN BN ?

=H
7|<

ReH

7SR

EF i

QD AEZEL—bF, BARDIM
FEIRD B RIZET 5T —4

TEEROHERBRREIET7 MR EEN

HTHHMN?

17



LAR—MERKIZDULNT (1)

(2)IZEILT

F2EBLUEIENDAHNEEZSE(ZT 5.

> UNELf-T—2IZDULVTERAT 5.

> 1 DDNEHZTEY, FHHEBEREZRDS.

> 2DDNEBZTEY, BmMBEAFEIXIOREEGTREZER
>

FEETHERALI2DODDEHMOHEBERBE-TT7M1%
HaKDS.

ULEDAITRERNODNAEZIRNSD.

A\

18



LAR—RMERKIZDULNT(2)

(3)IZELT
ESENDAHNBEZSEICLTHETIREREEZITY.

> T—AREWMo-BMET—IDEKRZEZE Z, EIER
EREEE T B.

IFEREREX ILRETZT XETHRAD.
REMETETXEELEHATERY.

FERE mAlEE, BEKEZTRT.
REMETEDEIREEREZK O, BHFET 5.
IFEREAZOEHFREERZMFLTHERSD.
BREMRBRTXETIRAND.

V V. V V VYV VY

19



SEDTFE
78178 (X)) <wEBHDEE

& E5ELAR—MEDHYIY
FEISRX 7H24H (AN)17:00
NEEHOSR 7H24B8 (X)17:00

) LS bR
EEISRX 7THA20H (£)1R
KEEVSR 7H248 (K) 28R

O EREEEGER
€EIVSR 7H278H (£)1[E
NESSRX 7HA31H () 2[R

20



